W

R PERE

T

R 7 AZSTIR A0 it e R i A 55 S 5

KBTS AT (LR B2 G (R AR/ INET KR8 R HhdG
T HE AR
B 1T # R F£A H»ne &S 84 1A30HZET
(GEAD| H
AREBIL. BRI EB AT ME1T T 2SR bt R RS 21
ME L 25 SO RE L O TEMER (FH) o-ooAEES T
» 5D,
B © # 4
= ¥ 4
[EBNE]

EBBERERDO LB

E5 i o = [ <N | = - T



= A i g
HE /TR FER LT % & F i i i
R 7 #2370R Wb it B oof 3R FH gl A5 25 2675
FHHH =5 = 8, 020, 000
[IERE3REE =Y 4, 463, 198
[EEC- PN = 4,245, 288
JH Hin ) = 4, 245, 288
A Téw FRIEFT A
HEHAE T
A réad REHMNE LR
BT YN
] et REHMNE L
ES0> VEZERT I
ES0s T Hh kA

Je bl 5 HE A )=




HE /TR FER BANT #m il N B
JH I & 10, 000t 15 o &

R BLFEE

10, 000t DEE

10, 000 nt B S £
FH M5

10, 000 nt AR 1
iﬁﬁlﬁﬁfﬁ

10, 000t I &

10, 00011 AR R
FH Hi ST 1 [X]

10, 000t VERE 11000
T HFEE

10, 00011 YERL
EFE A

B s B EHER
10, 000t BEHEAMROIER

Je bl 5 HE A )=

\r




HH T R HAL il

eSS

JH P % JR IR
[EEE3ES ¢ X
=
=

2V TR SRR EY

PR - —REHES 2V
e 2V
JH M A 2 S5 B2V
e B2V
ELRZJEUfff B2V

Je bl 5 HE A )=




= A i g
THH /THE FER HAAT B & A Mmoo Bl w 3
[ERZIN == = 1, 786, 221
FHH AR A
Evth = 552, 470
A A+ PRI A
EEFHEED
ES 2 A+ 1ERL
EH A T
A réad AN E ST
B L NG
A réad AN E ST
EMEOREE = 1,233,751
ESE B s AT
SETAR D
1,000 12. FEKLOEE M Ak b
A - BT
R (R H4) A 159, 151

Je bl 5 HE A )=




WA /LA FE AL B & HooBl W
EW 1 Zpag g

= 1 RE A
Z O itk 2V 1 961, 880
Z DA F A 2V 1 961, 880
— R B A X 1 1, 562, 748
— R PR 2V 1 1, 562, 748
e Al = 1 12, 490, 000

Je bl 5 HE A )=




